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Question: 1 

 

Which are two supported storage primiives for VAAI NAS? (Choose two.) 

A. block zeroing 

B. Reserve Space 

C. hardware assisted locking 

D. Full File Clone 

 

Answer: AC 

 

Question: 2 

Which two choices are applicable to vSphere Availability? (Choose two.) 

A. Admission Control 

B. Heartbeat Datastores 

C. VM Startup/Shutdown 

D. Power Management 

 

Answer: AB 

 

Question: 3 

 

What are three consideraions when booing ESXihost from SAN using sotware FCoE? (Choose three.) 

A. The VMware_FCoE_vSwitch that the installer automaically created cannot be changed. 

B. Boot LUN cannot be shared with other hosts even on shared storage. 

C. Mulipathing is not supported at pre-boot. 

D. Sotware FCoE boot configuraion cannot be changed from within ESXi 

 

Answer: BCD 

 

htps://kb.vmware.com/s/aricle/2032363 

 

Question: 4 

 
Which two statements correctly describe VM-VM affinity rules? (Choose two.) 

A. vSphere DRS atempts to keep the virtual machines together on the same ESXi host. 

B. When two VM-VM affinity rules conflict, the older one takes precedence and the newer rule is disabled. 

C. vSphere DRS atempts to keep the virtual machines on separate ESXi hosts. 

D. When two VM-VM affinity rules conflict, the newer one takes precedence and the older rule is disabled. 

 

Answer: AB 

 

Question: 5 

 

Which port is used for vSphere HA agent-to-agent communicaion? 

A. 902 

B. 443 

C. 8182 

D. 22 

 

Answer: C 
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